

# UNMANAGED SWITCHES

Add our extreme compact switches to your IoT solution...





## WHY?

All modern application need a stable Ethernet network to connect all devices within a building. Due to the fact, that a standard Ethernet cable must not exceed 90m in length, we developed a very Compact solution to combine fiber optic with standard copper lines direct in the switchboard cabinet.

No need for external media conversion wall panels. Combine net network switches and your controllers into your cabinet solution.



We offer ultra compact switches with up to 7 ports. The switches are designed to fit into a 45mm cutout of a standard electrical switchboard. With only 2MU (36mm) width, they will fit-in almost everywhere. Another specialty is the wide power supply from 12-48Vdc. The switches offer auto-crossover and automatic speed detection 10/100/1000 bits/s.

We offer:

5 port Gigabit unmanaged switch

All five RJ45 sockets offer 10/100/1000 bits/s

7 port Gigabit unmanaged switch with seven RJ45 sockets. Five RJ45 sockets offer 10/100/1000 bits/s, two RJ45 sockets offer 1000 bits/s

### 5 port Gigabit plus 2 SFP ports unmanaged switch

Five RJ45 sockets offer 10/100/1000 bits/s, two SFP ports allow direct use of fiber optic SFP connectors to convert from fiber optics directly to copper.

## HOW?

Simply install our switches, connect your devices via Ethernet patch cables ad ready to use. No configuration or other setup necessary. Status LEDs in the front shows the actual state of every connected line. Use different SFP plugs to convert from all possible fiber optics into copper.



### 5xRJ45 10/100/1000

### OUR 5 port SWITCH

#### RESI-SW-5G

## Connect up to 5 Ethernet devices with RJ45 patch cables

- ✓ 5 RJ45 sockets
- ✓ auto-crossover

t

- ✓ 10/100/1000 bit/s auto detect
- Unmanaged switch
- Status LEDs in front
- ✓ 12-48Vdc power supply
- ✓ Extreme compact: 2MU

## 7xRJ45 10/100/1000

#### **OUR 7 port SWITCH**

#### RESI-SW-7G

Connect up to 7 Ethernet devices with RJ45 patch cables

- 7 RJ45 sockets
- auto-crossover
- ✓ 5 ports with 10/100/1000 bit/s auto detect
- ✓ 2 ports with 1000 bits/s
- Unmanaged switch
- ✓ Status LEDs in front
- ✓ 12-48Vdc power supply
- Extreme compact: 2MU



## 5xRJ45 2xSFP 10/100/1000

#### OUR 5xRJ45+2xSFP SWITCH

RESI-SW-7G

Connect up to 5 Ethernet devices with RJ45 patch cables & 2 fiber optic lines with SFP modules

- ✓ 5 RJ45 sockets
- ✓ 2 SFP ports
- ✓ auto-crossover
- ✓ 5 ports with 10/100/1000 bit/s auto detect
- ✓ 2 SFP ports with 1000 bits/s
- Use almost every SFP plug for connecting fiber optics directly top the switch
- No external patch panel for media conversion necessary
- Unmanaged switch
- ✓ Status LEDs in front
- ✓ 12-48Vdc power supply
- Extreme compact: 2MU

**INTERESTED?** Contact our sales by email sales@RESI.cc or give us a call +43-316-262062-0

